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mean: 0.0312 rms: 1.4949 std: 1.4946
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mean: 0.0592 rms: 2.0589 sid: 2.0581
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mean: 0.0399 rms: 1.6340 std: 1.6335
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OMB SYNOP V (All: 846)

mean: -0.0027 rms: 1.3451 std: 1.3451
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OMB SYNOP V (Used: 448)
mean: -0.0051 rms: 1.8484 std: 1.8484

"‘ tsimulation.coin,

2l

15°N

0° -

15°S

,,,,,,,,

30°S

45°S /

105°W 90°W 75°W 60°W 45°W 30°W 15°W

1 15°N

10°

15°S

] 3008

45°S

o -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10

-3<=x<-2 O<=x<1 e 3<=x<4
® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5



OMA SYNOP V (Used: 448)

mean: -0.0345 rms: 1.5115 std: 1.5112
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OMB SYNOP T (All: 914)

mean: 0.1208 rms: 1.7564 std: 1.7522
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OMB SYNOP T (Used: 497)

mean: 0.2221 rms: 2.3819 std: 2.3715
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mean: 0.1526 rms: 1.9978 std: 1.9920

15°N { 15°N

0° 0°
15°S 15°S
30°S o] ageg
45°S 45°S

105°W 90°W 75°W 60°W 45°W 30°W 15°W
o -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10
® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4

® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5



OMB SYNOP Q (All: 871)
mean: 0.9156 rms: 2.0667 std: 1.8529
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OMB SYNOP Q (Used: 448)

mean: 1.7801 rms: 2.8817 std: 2.2662
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OMA SYNOP Q (Used: 448)

mean: 0.8807 rms: 2.1392 std: 1.9495
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OMB SYNOP P (Used: 471)
mean: 1.4950 rms: 2.0229 std: 1.3628
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OMA SYNOP P (Used: 471)
mean: 0.3051 rms: 1.1061 std: 1.0632
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